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Change 1
	Function name
	f_NR_ReceiveMeasurementReports

	Reason for change
	For the first received measurement report, only need to record the sfn and assigned it to v_ PreviousSfn.

	Summary of change
	Change the initial value of v_ PreviousSfn to a negative value and for the first received measurement report, record the sfn instead of check the interval.

	TTCN module
	NR_Measurement_Functions

	MCC160 Comment
	


Before 
function f_NR_ReceiveMeasurementReports(NR_CellId_Type p_NR_CellId,

                                          PhysCellId  p_PhysCellId,

                                          MeasId p_MeasId := tsc_MeasId1,

                                          integer p_NumReports := 1,

                                          float p_ReportInterval :=0.0, //@sic R5190776 sic@

                                          template MeasResults.measResultNeighCells p_MeasResultNeighCells := omit,

                                          template (present) MeasQuantityResults p_MeasQuantityResults := f_NR_Get_MeasQuantityResults()        //@sic R5-195344 sic@

                                          ) runs on NR_BASE_PTC

    {

        var integer v_Counter := 0;

        var integer v_PreviousSfn := 0;  //@sic R5190776 sic@

        var integer v_CurrentSfn;        //@sic R5190776 sic@

        var float v_MinTolerance := p_ReportInterval * 0.9;    //@sic R5190776 sic@

        var float v_MaxTolerance := p_ReportInterval * 1.1;    //@sic R5190776 sic@

        var float v_ExpectedInterval;     //@sic R5190776 sic@

        var NR_SRB_COMMON_IND v_ReceivedMsg;

        var charstring v_VerdictMessage := "Received a measurement report for the measId " & int2str(p_MeasId);    //@sic R5s190426 sic@

        while (v_Counter<p_NumReports)

        {

            SRB.receive(car_NR_SRB1_RrcPdu_IND(p_NR_CellId, cr_NR_MeasurementReport(cr_38508_MeasResults(p_MeasId,p_PhysCellId, p_MeasResultNeighCells, p_MeasQuantityResults)))) -> value v_ReceivedMsg;

            if(p_ReportInterval > 0.0)

            { //@sic R5190776 sic@

                v_CurrentSfn := v_ReceivedMsg.Common.TimingInfo.SubFrame.SFN.Number;

                v_ExpectedInterval := int2float((v_CurrentSfn - v_PreviousSfn +1024) mod 1024);

                if(v_ExpectedInterval < v_MinTolerance or v_ExpectedInterval > v_MaxTolerance)

                {

                      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Measurement report was received within a wrong interval");

                }

                v_PreviousSfn := v_CurrentSfn;

            }

            f_NR_PreliminaryPass (__FILE__, __LINE__, v_VerdictMessage);

            v_Counter := v_Counter +1;

        }

    };
After change

function f_NR_ReceiveMeasurementReports(NR_CellId_Type p_NR_CellId,

                                          PhysCellId  p_PhysCellId,

                                          MeasId p_MeasId := tsc_MeasId1,

                                          integer p_NumReports := 1,

                                          float p_ReportInterval :=0.0, //@sic R5190776 sic@

                                          template MeasResults.measResultNeighCells p_MeasResultNeighCells := omit,

                                          template (present) MeasQuantityResults p_MeasQuantityResults := f_NR_Get_MeasQuantityResults()        //@sic R5-195344 sic@

                                          ) runs on NR_BASE_PTC

    {

        var integer v_Counter := 0;

        var integer v_PreviousSfn := -1;  //@sic R5190776 sic@/

        var integer v_CurrentSfn;        //@sic R5190776 sic@

        var float v_MinTolerance := p_ReportInterval * 0.9;    //@sic R5190776 sic@

        var float v_MaxTolerance := p_ReportInterval * 1.1;    //@sic R5190776 sic@

        var float v_ExpectedInterval;     //@sic R5190776 sic@

        var NR_SRB_COMMON_IND v_ReceivedMsg;

        var charstring v_VerdictMessage := "Received a measurement report for the measId " & int2str(p_MeasId);    //@sic R5s190426 sic@

        while (v_Counter<p_NumReports)

        {

            SRB.receive(car_NR_SRB1_RrcPdu_IND(p_NR_CellId, cr_NR_MeasurementReport(cr_38508_MeasResults(p_MeasId,p_PhysCellId, p_MeasResultNeighCells, p_MeasQuantityResults)))) -> value v_ReceivedMsg;

            if(p_ReportInterval > 0.0)

            { //@sic R5190776 sic@


   v_CurrentSfn := v_ReceivedMsg.Common.TimingInfo.SubFrame.SFN.Number;

                if(v_PreviousSfn >= 0)
                {

                v_ExpectedInterval := int2float((v_CurrentSfn - v_PreviousSfn +1024) mod 1024);


                if(v_ExpectedInterval < v_MinTolerance or v_ExpectedInterval > v_MaxTolerance)


                {


                      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Measurement report was received within a wrong interval");


                }

                }
                v_PreviousSfn := v_CurrentSfn;

            }

            f_NR_PreliminaryPass (__FILE__, __LINE__, v_VerdictMessage);

            v_Counter := v_Counter +1;

        }

    };
